Vd

Vd

=

_ _ w

21|13 =

‘B 50 + e | ol | B o

< S (@) (@) @) @) >

e < H®) a. (s} a. (4a] (]

o i [ - - ~ ~ o

o = (%)) o a4 2’4 o [a'a]
1 Ladner Petr Praksice 29 1 25 1 25 50
2 |Pospisil Lubos Btezolupy 50 |2 22 2 22 |44
3 |Buran Viadimir Praksice 19 (3 20 4 18 38
4 Hromek Petr PraksSice 40 5 16 3 20 36
5 |vurea Klement Bfezolupy 1 4 18 5 16 34
6 |Gajdusek |Petr Praksice 66 |6 15 6 15 30
7 Franek Lubomir Borsice 30 7 14 8 13 27
8 |Paveldik  |Frantigek Praksice 42 |9 12 7 14 26
O |Bujadek  |Leos Praksice 108 |8 13 9 12 25
10 Bfezny Petr Praksice 73 10 11 10 11 22
11 Eckert FrantiSek Borsice 48 11 10 11 10 20
12 Josef David PraksSice 268 0 0 0
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